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int 1i;

double hoge[1001];
double x;
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if (a > max) { if( 50<=a && a<=100) { if (a <=-50 || 50 <==a) {
max = aj; a=75; a=999;
} } }
2.3 P (R 18 )
(R 171 (6 )
k=13 m=71
(R 27 (% 2 5
(71 1 11 2 [V] 4 [=] 3 (4] 6

3. ar T AER (Bt 25 )
3.1 K (15 /)

#include <stdio.h>

int main (void) {
int sum, i, finish;

finish = 1000;

sum=0; /* WL~/

for (i=1; i<=finish; 1i++){
sum+=i;

}

printf ("1~ $d FTORIE, $d TJ, \n", finish, sum);

return O;
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#include <stdio.h>
#define TEST 1000001

int main (void) {
int number [TEST];
int i, 3;

[ L
for (i=1;i<TEST; i++) {
number [1]=0;

}

P
for (1=2; i<TEST; i++) {
if (number[1]==0) {

for (j=2*i; J<TEST; j+=1i){
number [J]=1;

}

}

[*x———— FERFR ———-x/
J=0;
printf ("No\tPrime Number\n");

for (1i=2; i<TEST; i++) {
if (number[i]==0) {
Jtti
printf ("$d\t%d\n",j, 1i);
}

return 0;



